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When P29t is discussed, it excludes 121953

OVERVIEW

There is the wp n of 70> aR¥"M which is inclusive, and there is 7% 2ano,
which is exclusive. The X723 explains that it is logical to assume that the
wpn of 7N M ARX"M includes w2 PR (as opposed to 7032 1IRX) and the
P09 of 7% ano1 excludes Ap22 XY (as opposed to excluding w2 PYITPR),
because since the exclusion of 7% 2021 is written concerning a divorce it is
logical to assume that we excluding something regarding a divorce (namely
Ao IN°X%) as opposed to assuming that it excludes something regarding
TR (namely w2 Pwi7R). Our NvoIN explains why we emphasize the
W13 aspect of 772 2n21 as opposed to the writing aspect of 77 2o,

mooIn anticipates and resolves an apparent difficulty:
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And it is not logical to say; when we discuss writing, we therefore

exclude writing. n1v01n explains why this is illogical.
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For the simple meaning of the P2 indicates that it is coming to teach

that only through writing (a v3) can she be divorced -
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For the m0o states; ‘if she will not find favor in his eyes, so he will write

for her a bill of separation’. This indicates that only in this manner can he
divorce her. Therefore it is logical to assume that the 770 is excluding all other types of
divorces (besides writing a v3).

SUMMARY
The context of the P10 of 7% 2031 indicates that the 7710 intends to limit the
manner how he can divorce her.

THINKING IT OVER

" The question here is that 7% an31 (which is exclusive) is referring to writing (the v3), therefore it should
exclude another 117 of writing (instead of excluding another type of 1"w17°3 [as the X713 suggests]). We can
argue that the 770 by stating 7% an21 is teaching that writing is only effective by v3; however writing is not
effective by 7v17p. A woman should therefore not be “vwa n°ipi. The wp i of 7n°m nx¥™ should (by
default) include 7932 PwII.
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1. How did moin originally understand the answer of wynn W2 ORP
"1 w13, and how does MpdoIN ultimately understand it?

2. If the context of 7% an>Y is concerning w17 (and not PwI7P), and (it
seems that) therefore it is inappropriate to derive from it laws pertaining to
TY17°P, then how can we derive W 7°1p by P 7p from the 2°p109 that are
discussing P72

* See (1310m2) WK MO
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